TOP COLLAR

UPPER GATE ARM
/ GUIDE (TYP.)

276"

f«——— PROPOSED STEEL
LIGHT POLE

LOWER GATE ARM

/ GUIDE (TYP.)

NOMINAL 30'-0" TAPERED SHAFT

CIRCUIT BREAKER —|—|
BOX
1t

SHOULDER

EDGE OF TRAVELED
WAY

TRAVELED WAY M|
-

GATE ARM
(TYP.)

2-INCH HOPE DUCT/
WITH POWER
DISTRIBUTION WIRES
(TO POWER SOURCE)

"/ LIGHT POLE

24x36-INCH fotr

CAST ALUMINUM
TRANSFORMER BASE
(BREAKANAY BASE; SEE
FOR ADDITIONAL INF.)

TYPICAL LOWERED POSITION |

NOT TO SCALE
CONCRETE BASE,
TYPE 5 (SEE S.D.D.
FOR ADDITIONAL INF.)
2-INCH METALLIC CONDUIT
WITH POWER DISTRIBUTION
WRES

AS SHOWN ON PLANS

NOT TO SCALE

TYPICAL RAISED POSITION

u GENERAL NOTES

\ COVERAGE OF THE TRAVELED LANE.
BURRS SHALL BE GROUND SMOOTH PRIOR TO GALVANIZING.
OF ASTM A 780.

THE REQUIREMENTS OF ASTM A 780.

GATE ARM

13/4"

v,
I

BUMPER ROD
BRACKET, 2 REQD

HINGE. SPRING
LOADE

"N

LI

TUBE. SPRING
HOLDER

SPRINGS

COLLAR, PIN
HOLDER

(MIN.)

ROD, SPRING

PULL BOX

12 MAX.

3

B

LOADED

3/8"x 3 1/2"BOLT W/
HEX. NUT & 2 WASHERS
(10 REQ'D PER GATE)

FLASHING RED LED
WARNING LIGHT

NUT, HEX 172" x 18"

L 1 7 ¢ L .

A

\ FIBERGLASS GATE

GATE ARM BUMPER ROD DETAIL

1. THE LOCATION OF RAMP CLOSURE GATES AND MOUNTING HEIGHT OF GATE ARM PIVOT SHALL BE VERIFIED BY THE ENGINEER.
2.HEIGHT OF GATE ARM GUIDES MAY BE VARIED AS REQUIRED FOR WARNING LIGHT CLEARANCE.

3.FIBERGLASS/ALUMINUM GATE ARM AND CAST ADAPTER SHALL BE SUPPLIED BY THE SAME VENDOR.

4.GATE ARM TO BE MOUNTED ON PROPOSED POLE AS INDICATED ON THE PLANS. PROPOSED POLE SHALL BE TYPE 5 POLE.
5.LOCATION OF THE CONCRETE BASE AND LENGTH OF THE GATE ARM WILL BE VERIFIED BY THE ENGINEER TO ENSURE ADEQUATE

6. GATE PIVOTS, SUPPORTS AND GUIDES. AND ALL ASSOCIATED HARDWARE SHALL BE GALVANIZED. ALL ROUCGH EDGES AND

7.ALL EXPOSED BOLT THREADS SHALL BE PAINTED WITH TWO COATS OF ZINC RICH PAINT CONFORMING WITH THE REQUIREMENTS

8. ANY FIELD DAMAGE TQ THE GALVANIZING SHALL BE REPAIRED WITH TWO COATS OF ZINC RICH PAINT CONFORMING WITH

3/4, 134"

234

174" DIAM.
HOLE (TYP.)

LENGTH BEFORE BENDING

1

I:EI:EI::iF—J

/2"

AFTER BENDING

BUMPER ROD MOUNTING
“BRACKET DETAL

BUMPER ROD MOUNTING ARM
GATE ARM BUMPER
CAST ADAPTER T -REQD.
5y 2 172 ALUMINOM ROD BRACKETS, 2-REQ'D.
GATE ARM SECTION 10-0"
(SEE NOTE 3 1
ALUMINUM EXTRUSION \
SLEEVE INSERTED INTO ALTERNATING RED AND WHITE
GATE ARM FOR CAST ADAPTER TYPE H SHEETING @ 45° ANGLE,
COVERING ENTIRE GATE ARM
GATE DETAIL
(HARDWIRE OPTION)
PROJECT NO: | Hwy: | county: | | sHeET |E
FILE NAME : \\milw00\ingrproj\48097\ramp gates\cds\CLOGATE10.DGN PLOT DATE : 04-MAR-2009 13:12 PLOT BY : pkutz PLOT NAME : PLOT SCALE : 30.909091:1

WISDOT/CADDS SHEET 42




2 ]

STEEL LUMINAIRE—=
POLE

GATE ARM
GUIDE

GATE ARM

374" x 8" HS PNOT BOLT

GENERAL NOTES

1. WORM GEAR WINCH AND CABLE SHALL BE AS SUPPLIED
BY VENDOR

2. WHEN THE GATE IS FULLY RAISED, THE NUT AND WASHER e
SHALL BE PLACED SNUGLY AGAINST THE QUTSIDE OF THE
REAR CHANNEL AND PADLOCKED IN PLACE. THE FABRICATOR
SHALL SUPPLY ONE HEAVY WEATHER-PROOF PADLOCK
WITH 30 NUMBERED KEYS FOR EACH GATE ARM.

WINCH MOUNT.

CEx82x 2 |

w

. WHEN THE GATE IS FULLY LOWERED, THE NUT AND WASHER
SHALL BE PLACED SNUGLY AGAINST THE INSIDE OF THE REAR
CHANNEL AND PADLOCKED INTO PLACE.

IS

. ANTI-SEIZE LUBRICATING MATERIAL SHALL BE USED ON ALL
BOLT THREADS BEFORE INSTALLATION.

5. ALL BOLTS SHALL CONFORM TO ASTM A 307, CRADE A, UNLESS
DESIGNATED AS HS (HIGH STRENGTH), WHICH SHALL CONFORM
TO ASTM A 325. PIN BRACE - PIPE 2
R DOUBLE X-STRONG x 3/4"
oy

1/16" WALL THICKNESS:
4" THREAD
(U

3" x 1/4"x 2-6"
BAR (TYP.)

R
N 3 3" x 174" x (3" BAR
S

PIN BAR
11/72"x 13/4

374"

SECTION B-B

SECTION

2-1/2" RAD.

T aKIP.

€

" . 4 x31/2x 3 »
W/ HEX NUT & 2 WASHERS / e 3" x VATBAR STELL PLATE c C
172 x 1-10" BAR 5 l v l
W/ 2 HEX, NUST & 2 -t
GATE ARM PIVOT. LOCK WASHERS (2 REQ'D.) 172 x 2'BOLT W/
] ; HEX NUT 9/16* DIAM.
PADLOCK IN PLACE B — B — HOLE IN SLEEVE e
WHEN GATE IS RAISED CAST ADAPTER GATE ARM GUIDE DETAIL 3 EQ. SPA. (TYP.)
(SEE NOTE NO.2) == .
. 3/4"« 6" BOLT WITH &
CABLE FROM BATTERY o 12 FEX NUT & WASHER. B
TO WARNING LIGHTS e T T ye s WELD BOLT T0 1/2'x 2'BOLT W/
YOKE ASSEMBLY WITH ! o 1/4"% 3 1/2'x 3' PIN BRACE HEX NUT 9/16" DIAM.
W I 38 .1 340 ms pors . SU L 3 I STEEL PLATE. DRILL HOLE IN SLEEVE e
CLEVIS PIN W/ HEX NUT & 2 WASHERS = ' ' BOLT TO ACCEPT PAD 3 EQ. SPA.(TYP.) R
Il reoD , y *
I -3 .
— _ 4 9/ Diaw. . . {~—SLEEVE - PIPE 8 STO.
| + HOLE (TYP.) SMHEX"NIU/TZ fuﬂs}:’é;ﬁ (SCHEDULE 8@ x 4
. 3'x /4" BAR WELD BOLT HEAD TO — PIN 13/8° WALL THICKNESS)
| g SLEEVE. DRILL BOLT T0 8
| - 3x VA x 10 V2 BR ACCEPT PAD LOCK. z
TACK WELD NUT -
- [~—SLEEVE - PIPE 8 STD.
0 SHAFT | 9 SECTION A-A (SCHEDULE 401 x 2'-18"
z U-BOLTS NOT SHOWN (5/16" WALL THICKNESS)
| < 14 8
| & o
WORM GEAR WINCH W =
7/32' CABLE, 2000 LBS. | o
SINGLE LINE VERTICAL LIFT B
CAPACITY (MIN.). FIELD WELD |
OR DRILL MOUNTING PLATE ©
FOR WINCH INSTALLATION |
by ——
| 1
Ll ¥
& WINCH MOUNT
PROJECT NO: | Hwy: | county: | | sHeET |E
FILE NAME : \\milw00\ingrproj\48097\ramp gates\cds\CLOGATE10.DGN PLOT DATE : 04-MAR-2009 13:13 PLOT BY : pkutz PLOT NAME :

PLOT SCALE :

30.909091:1

WISDOT/CADDS SHEET 42




TOP COLLAR

UPPER GATE ARM

GUIDE (TYP) ]
WEATHERHEAD H
SOLAR PANEL
- FACE AS CLOSE TO SOUTH AS POSSIBLE
WITHOUT INTERFERING WITH ARM
OPERATIONS.
| - INSTALL WITHIN 1-FoOT OF UPPER GATE ARM
‘ GATE ARM GUIDE (TP \
a 'fe———— PROPOSED STEEL
= = LIGHT POLE
: \
E
&
a !
2
&
&
g1, ‘
Y
IR !
;
2 ‘ EOGE OF TRAVELED
o 1-INCH METALLIC CONDUIT WITH ' WAy
ES ! /SDLAR POWER DISTRIBUTION WIRES .
s SHOULDER TRAVELED WAY
HE i g
LONER GATE ARM '
‘ GUIDE (TYP.) |
o '
8| ! |
0 .
CONTROL BOX
u CABINET
1 1
1
= T

CONCRETE BASE,
AST ALUMINUN |

TYPICAL LOWERED POSITION

[ I FOR ADDITIONAL INF.)
TRANSFORMER BASE NOT 70 SCALE
(BREAKAWAY BASE: SEE

FOR ADDITIONAL INF.)

"/ LIGHT POLE

g

AS SHOWN ON PLANS

TYPICAL RAISED POSITION

NOT TO SCALE

|
12 MAX.

&

6 r

| 3/8"x 3 1/2"BOLT W/
HEX. NUT & 2 WASHERS
‘ (10 REQ'D PER GATE)

FLASHING RED LED
WARNING LIGHT

LT 1 7 ¢ L .

CAST ADAPTER
5" x 2 1/2" ALUMINUM
GATE ARM SECTION

GATE ARM BUMPER
ROD T

.
\ FIBERGLASS GATE

BUMPER ROD MOUNTING ARM
BRACKETS, 2-REQ'D.

10-0"

GENERAL NOTES

1. THE LOCATION OF RAMP CLOSURE GATES AND MOUNTING HEIGHT OF GATE ARM PIVOT SHALL BE VERIFIED BY THE ENGINEER.
2.HEIGHT OF GATE ARM GUIDES MAY BE VARIED AS REQUIRED FOR WARNING LIGHT CLEARANCE.

3.FIBERGLASS/ALUMINUM GATE ARM AND CAST ADAPTER SHALL BE SUPPLIED BY THE SAME VENDOR.

4.GATE ARM TO BE MOUNTED ON PROPOSED POLE AS INDICATED ON THE PLANS. PROPOSED POLE SHALL BE TYPE 5 POLE.
5.LOCATION OF THE CONCRETE BASE AND LENGTH OF THE GATE ARM WILL BE VERIFIED BY THE ENGINEER TO ENSURE ADEQUATE

COVERAGE OF THE TRAVELED LANE.

6. GATE PIVOTS, SUPPORTS AND GUIDES. AND ALL ASSOCIATED HARDWARE SHALL BE GALVANIZED. ALL ROUCGH EDGES AND

BURRS SHALL BE GROUND SMOOTH PRIOR TO GALVANIZING.

7.ALL EXPOSED BOLT THREADS SHALL BE PAINTED WITH TWO COATS OF ZINC RICH PAINT CONFORMING WITH THE REQUIREMENTS

OF ASTM A 780.

8. ANY FIELD DAMAGE TQ THE GALVANIZING SHALL BE REPAIRED WITH TWO COATS OF ZINC RICH PAINT CONFORMING WITH

THE REQUIREMENTS OF ASTM A 780.

SOLAR PANEL

GATE ARM

13/4"

v,
I

BUMPER ROD
BRACKET, 2 REQD

HINGE. SPRING
LOADED

N

TUBE. SPRING
HOLDER

SPRINGS

COLLAR, PIN
HOLDER

(MIN.)

ROD, SPRING
LOADED

NUT, HEX 172" x 18"

GATE ARM BUMPER ROD DETAIL

3/4, 134" 234

174" DIAM.
HOLE (TYP.)

LENGTH BEFORE BENDING

L

I:EI:EI::iF—J

/2"

AFTER BENDING

BUMPER ROD MOUNTING
“BRACKET DETAL

(SEE NOTE 3 1
O o \ALTERNAT\NG RED AND WHITE
CATE ARM FOR CAST ADAPTER TYPE H SHEETING @ 45° ANGLE,
COVERING ENTIRE GATE ARM
GATE DETAIL
(SOLAR POWER OPTION)
PROJECT NO: | Hwy: | county: | | sHeET |E

FILE NAME

\\mL1w0O\ LNgrproj\48097\ramp gates\cds\CLOGATE10.DGN

PLOT DATE : 04-MAR-2009 13:13

PLOT BY : pkutz

PLOT NAME : PLOT SCALE :

30.909091:1 WISDOT/CADDS SHEET 42




e

2R (TYP)
B

172" DIAM, HOLE FOR
3/8" HS BOLT (TYP.)

B FRONT CHANNEL \

7/8" DIAM. HOLE FOR
374" HS PIVOT BOLT

R T 4
FRONT CHANNEL: N >
| . & L \§:
7/8" DIAM, HOLE ) & S oy
A IN SIDE PLATE f = o [
&l S AND CHANNELS (TYP.) o < !
N - | _ r |
N SIDE PLATES. L i ~ ki |
SIDE PLATE —| ' /S‘DE PLATE
13/4° DIAM, HOL
FOR PIN 2172 2| REAR CHANNEL |
+— . " x 5 SLOT
: |
212 2'RATYP) N
s '
o ® 1 5 DEG N \ /
kil ~ T T1 (TYP) . o Wy
. T | g AN
& -
= |
- 3/4" x 3'HS BOLT M
o | W/ HEAVY HEX NUT
= REAR CHANNEL & 2 WASHERS (TYP.) ! YOKE ASSEMBLY,
- s SEE DETAL

12

SDE PLATE DETALL

i

0"

SECTON A-A

A

CLEVIS PN

SIDE PLATE

o b

N,

MC 10 x 285 x 9 172"

SIDE PLATE
3/8"x 1-2"x 2-1"

SECTION B-B

3/8" x I-2"x 2-1"

—|
~—
MC 10 x 285 x 9 172"

_\_/'\_/\_/"
SIDE FLAT\ 5 7/8" 1
gL ‘ /SIDE PLATE
I
REAR CHANNEL
o MC 10 x 285 x 9 172"

g
g
2" RAD. w

:B 174" x 2' x 4"PLATE

CLEVIS PN, i 1" DIAM. SWAGE|

/16" x 3" o ROD EYE
N
o
.
5
174" STEEL PLATE
1" RADY
2 1/8' 4 3/4
PROJECT NO: | Hwy: | county: | | sHeET |E
FILE NAME : \\milw00\ingrproj\48097\ramp gates\cds\CLOGATE10.DGN PLOT DATE : 04-MAR-2009 13:13 PLOT BY : pkutz PLOT NAME : PLOT SCALE : 30.909091:1

WISDOT/CADDS SHEET 42




STEEL LUMINAIRE —
POLE

GATE ARM
CUIDE

GATE ARM

DRILL 3/8" DIAM.
HOLE ON POLE FOR
CABLE W/ GROMMET

DRIP LOOP

CABLE

CAST ALUMINUM
TRANSFORMER BASE

TYPE 5 CONCRETE BASE

PULLBOX

CONDUITS
(SEE PLANS FOR SIZE AND QUANTITY)

PROJECT NO: | Hwy: | county: |

| sHeET |E

FILE NAME : \\milwOO\ingrpro \48097\ramp gates\cds\CLOGATE10.DGN PLOT DATE : 04-MAR-2009 13:14 PLOT BY : pkutz PLOT NAME :

PLOT SCALE :

30.909091:1

WISDOT/CADDS SHEET 42




	CLOGATE10
	CLOGATE101
	CLOGATE102
	CLOGATE103
	CLOGATE104

